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Hw Set T Sectiom 2.1 ,

)

| o) szq = (26+54) + 83 = Be+ 83 = 163
(4x 25) x 3% = 100X 3% = 3400 :
= (200%6) + (50x6) + (6x6)

1200 + 300 + 36 = 1§36

by (4 X3u4) x A5 =
)y ( )

) 256x b = (:wo+so+e)x 6

i

d) 2ss+ 2y = (F4eF yg)+ 24 = (0+2 =12

e) 44 x 56 + 56 = (4 +56) x 56 = 100X 56 = 5600

—— ’
(4oz x i0) + (o2 x 2)

£) dqoa x ix = YoxX (lo+2) =
4yo2o + Bo4w = 4g2Yy

a2 o) 123+ 3206 +H +77 = 200 + 330 = 530
b) 'lxbx'/‘xS:loxt}'Z:t-\»lo
e 1
¢) 3200 % 34+ l6 = »————5?00 4 34 = 200 X 34 = 6800
b

. 3 ) cam be viewed as
3 a) 147 +3568 = 200 + 565 =765 a7 +3 + S68-3
b 62 -39 = b3 — 4O = 23
— 7
add | +o beth
<) HB8x 25 = 2 x (4x25) = 12X oo = 1200
C\) 500 ‘T 2G5 = lco = § = 20 QH‘ﬁVV\aﬁVe(\() each 100 s 'FOU‘(ZS'S‘

\_'/-’l l
divide both by 5 So 500+ 25 =5 x % = 20

e) T\ --uq ~ 4o =29

Subhack 2 frim beth
£ 180+ |5 = 30T 30 = l20 =~ |0 =12
\_——/’ N .
dewbie botia divide boTh b‘f 2
N
5 a 78 x99 = 18X (lo=1) = 780 — 78 = 702
b) 37 x4 = THX A = |48
c) 136+ 8 = 68 -~ 4 = 3+ +7 = |7
+o divi G B Vo ‘ . .. you can Thinl&
(4o divide by 8, you can halve Threefimes ;i3 g - 34 @)



’ 4 i e
cl) 1500 ~ 25 = Looo = 10C = O [ aiternatvely
1Sce+25 =300+ 5 =60

7

multply botn by divigeboby 7
e) 1575 % 25 = (1500 +75) + 25 = 60 +3 = ©3
' /
anpar‘&d
£) 325 5 = ts0 + |0 = 65
—_
diowbie beTh

pv (Ment=al Madtn deve\oto(v\% Place \/alue)
6 Classity as eTher  DP (HMental Malh developing tre Dishibutive Prep)
X (Net apprepriote for Mentnl Malin)

)
«y PV 37 +49 F 3¢ + 100 = 136
by PV 20 X 4o = 8°0°
Pl N |
c)y DP 7 x loa = 71X (leo+2) = To0 + 14 = 7Y
) X (3 X 28
e) PV 32( —A% = 228~ ico = 228
\__/ '

ada 2 o beth

£) X 337 + 879

4) DP Hgx7 = (Jo+wa) =7 = lo +7 =\7

e ) ’
h) DP 3432 = 3 x (30+2) = 9o +6 = 96



